sample questions algebra graphs has 9 layers timelypractice.com

1. Join the crosses (x) with a straight line which goes from one side of the grid to the other.

Y

A

-5

2. Nomedia has not finished the table of values or drawing the line y = 3x - 2
Y

A

15

X (-2|-110] 12345

Y| -81-5|-2|1 /4|7
VAR 10

The teacher said well done Nomedia:

e the values in the table are correct 5

e 3 points on the graph are correct

Finish this question for Nomedia:

\
8

-5-4-3-2-1412 3 4

(@3
D

78 910
e draw the line y = 3x - 2

e complete the table of values
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3. (a) Complete the table of values for y = 4x + 3

X -2 -1 0 1 2 3

Hint (a) continue this sequence — | 'y -5 -1 3 7 11
X X X T T T
Hint (b) ignore the 0 and negatives, ... plot the easiest points first

(b) On the grid, draw the line y = 4x + 3, for values of x from -2 to 3.
)

A

15

Y
8

-5-4-3-2-11 12345678910

-5

4. (a) Complete the table of values for drawing the line y = x

(b) On the grid, draw the line y = x, for values of x from 0 to 10.

Yy

A

10

x{0|1 234|567
yl o|11]2]|3

VoV VT T T

Key of hints:

x ignore the 0 and negatives

Y
8

5-4-3-2-11123456738910
v/ plot the easiest points first

1 fill in the missing values
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5. (a) Complete the table of values for y = 3x - 2

X -2 -1 0 1 2 3

y -2 1

(b) On the grid, draw the line y = 3x - 2, for values of x from -2 to 3.

\ 4
8

-10

6. This example shows the cover up method to find two points on the line y = 3z + 5

y=3T+5 y:Q+5 y:3‘+5 z | 0|1

the line when x = 0 when x = 1 Y 5 8
Complete this table for the line
y=2r+3 s | ol 1
Y
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7. Carson want to draw the line y = 2

(a) Help Carson by filling in one of these tables

or
y y 1 2 3

(b) Complete this table for the line y = x

y

(c) Complete this table for the line y = -x

y

(d) Complete this table for the line x +y =7
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8. On the grid, draw the line y = 2x + 5, for values of x from -2 to 3.

Y

A
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9. On the grids below draw the lines

(a) y = x (b) y = -x
Aky Iky
4 g
J J
A 4
=& =X
Q >)
J J
(3] )
Z Z
1 1
> T > T
54 —3-2-1 | 1 2 $ 4 1 S | I
—1 —1
=2 =2
— 9| — 9
—1 —1
) )
(c)y=3 (d) x =-2
Aky Iky
= g
J J
A 4
i3 =X
9 Q
J J
(3] )
Z Z
1 1
> T > T
54321 | 1 2 % ¥ 4 S | IR
—1 —1
=2 =2
— 9| — 9
=4 —
=D =D
(e)x +y=28 this is a spare graph in case of errors
Aky Iky
= g
J J
A 4
=x =X
] >)
J J
3] [a)
Z P
1 1
> T > T
54 —3-2-1 | 1 2 $ 4 1 S | IR
=1 =1
=2 =2
— 9| —9)
—1 —1
) =D
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